

PROCUREMENT MANAGEMENT OFFICE

REQUEST FOR QUOTATION

Date: 23 November 2023 RFQ No.: 100-23-08-7847

Name of Company:	
Address:	
Name of Store/Shop:	
Address:	
TIN:	
PhilGEPS Registration Number:	

The City Government of Pasig, through the Bids and Awards Committee (BAC), intends to procure Supply and Delivery of Various Safety Materials for the BFP-Pasig – City Mayor's Office with an Approved Budget for the Contract (ABC) of Php 999,532.80, in accordance with Section 53.9 of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184. Please quote your best offer for the item in the table below.

The Project shall be awarded as One Project having several items that shall be awarded as one contract. Quotations received exceeding each total Cost per Item and/or the total Approved Budget for the Contract shall be rejected.

		Approve				pproved Budget		Offer
Item No.	Item Description	Brand Name (PLEASE DO NOT LEAVE BLANK)	QTY	иом	Unit Cost	Total Cost	Unit cost	Total Cost
1	Fire Coat and Trousers, Minimum Specifications: * CE Certified made of 100% aromatic polyamide textiles * designed with multiple thermal layer with excellent ventilation, breathability and flexibility extending effective fire and heat protection. * with reflectors for the arms, body and legs. Please see attached Terms of Reference for additional requirements.		8	set	31,200.00	249,600.00		
2	Fire Helmet, Minimum Specifications: * Color: Yellow/black * Size: One size fits all * Weight: Approx. 1-2kg * Lens/Visor Polycarbonate Product Features * Shell is made of thermoplastic. * The lens has a UV coating and made of impactresistant, anti-scratch, and heat-resistant polycarbonate material, easy moving up and down. * It is equipped with a brim protection cover made of extruded PVC. * it has D-ring that can be hung on the wall for		10	pcs.	15,600.00	156,000.00		



PANAHON NG PASIGUEÑO

		T		т				
	easy storage.							
	* Ratchet adjustment system is provided for							
	proper fitting of the head. * It has ear and neck cover made of thermal			}				
	resistant fabric.							
	Please see Terms of Reference for additional							
	requirements.							
3	Flood Light LED,		10	pcs	2,566.08	25,660.80		
٦	Minimum Specifications:		10	pes	2,500.08	25,000.80		
	* MATERIAL: ABS+ Aluminum							
	* POWER: at least 800W Charge							
	* VOLTAGE: AC100-240V							
	* FREQUENCY: 50-60Hz							
	* POWER SUPPLY OUTPUT: 4.2V, 1000mA							
	* BATTERY: 6*18650 Li-ion Battery							
	* WATERPROOF LEVEL: IP65							
	* LUMINOUS ANGLE: 180(degrees)							
	* LIGHTING TIME: 6-14hours							
	* ROTATION ANGLE: 360degree rotation,							
	90degree rotation up and down							
	* SIZE: 190mm-205mm x 175mm-190mm x 275mm-290mm							
	* COLOR: Black							
	* Portable							
	* Spotlights IP65 24 LED		1					
	* Rechargeable							
	* Waterproof							
4	Life Saver (Buoy),		10	pc.	2,880.00	28,800.00		
	Minimum Specifications:			•	,	,		
	* SIZE: 29inch x 29inch							
	* Ring life buoy with reflective strip/reflector					4		
	* COLOR: marine orange				-			
	* with attached standard side cords (white)					i		
	*Material: high-density polyethylene outside the					:		
	plastic, which fills the foam with reflective tape.							
5	Rescue Rapelling Gloves,		10	pair	4,032.00	40,320.00		
	Minimum Specifications:				0			
	* Fire Proof Firefighting Gloves * Cow Leather							
	* Oil Proof Working Rescue Gloves							
	* Industrial Welding manufacturing							
	* Abrasion Resistant Rappelling Gloves						- 1	
	* Rescue gloves that can be used for firefighting,							
	rescue, and welding							
	* Non-disposable gloves							
	* Color: Black							
6	Rescue Multi Tool,		5	рс	1,440.00	7,200.00		
	Minimum Specifications:						1	
	* Multi-function combination Wrench with LED						1	
	Light							
	* 6 Functions: wrench, screwdriver, bit, LED							
	lighting, cutter, and saw.							
	* Camping Hiking Multi-Function Folding Tool							
	* Jungle Rescue Tool							
	* Small and light, easy to carry.						1	
	* High hardness, wear resistance, durable.	***************************************						
7	Safety Whistle,		15	pcs	720.00	10,800.00		

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

(02) 8643-1111 * (02) 8641-1111 loc 1461 * bidsandawards@pasigcity.gov.ph * pasigcity.gov.ph

8	Minimum Specifications: * MATERIAL: Plastic * Classic Safety Whistle * No moving parts to freeze, jam or deteriorate. * Cannot be overblown-the harder you blow, the louder the sound * Whistle sound can be heard up to a mile away. * SOUND POWER: at least 115dB * Color: Orange/Black Fire Hood, Minimum Specifications: * Fire Sweat Wicking and Odor Free Protective Hood * Fire & Heat Resistant, Comfortable and lightweight	10	pcs	2,400.00	24,000.00	
	* Material: Meta Aramid 100% Rib Knit * Color: Black * Weight: Approx. 90g					
9	Bolt Cutter, Minimum Specifications: * Length: 1200mm (48") Max. cutting size: 22mm Cr-V blade * Black finish and polish TPR two color handle Bolt cutter for rod gR concrete scissors, steel cutting scissors, 1200mm industrial bolt cutter	5	pcs	5,040.00	25,200.00	
10	Flashlight, Minimum Specifications: * Anti-fog * Battery Operated * COLOR: Black * Water Resistant * LED * Portable * Heavy Duty * Rechargeable * Light Power: 100000 lumens	13	pcs	3,240.00	42,120.00	
11	ascender, Minimum Specifications: * Working Load 40kg. * NFPA Rating 7/16 - 1/2 IN (11-13 MM) * Technical Use - Right - Left * Material: Ligh alloy right-hand chesr ascender for climbing up ropes, to use together with the ascender handle * Size: 106x76mm, max. load 140kg. * Color: Orange/Black/Red	5	pc	3,024.00	15,120.00	
12	Branded double sheave pulley, Minimum Specifications: * 36kN Large Rescue Pulley * Double Sheave with Swing Plate * Material: Aluminum Alloy * Max. diameter of rope: 15mm bearing: Ball dimension: approx. 15x8.2x5.5cm/5.9x3.2x2.2cm. * Color: Orange	5	pc	5,184.00	25,920.00	
13	Single Sheave Pulley, Minimum Specifications: * Single Sheave Pulley	5	рс	1,728.00	8,640.00	

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

(02) 8643-1111 * (02) 8641-1111 loc 1461 * bidsandawards@pasigcity.gov.ph * pasigcity.gov.ph

	* Super stainless flexible active pulley sideplate							
	single sheave pulley							
	* Axis: approx. 6cm x 2							
	* Height: approx. 15cm							
İ	* Width: approx. 8cm							
	* Material: Aluminum Magnesium-Alloy							
	* Color: Red/Orange/Blue							
	* Weight: 266g							
14	Firefighter Turnout Boots,		10	pair	20,400.00	204,000.00		
l	Minimum Specifications:							
	* Waterproof boots with protection for up to							
Ì	500 bar / 7500 psi pressure. Completely							
	vulcanized rubber boots, fitted with steel toecap							
	and steel inserts to withstand both pressurized							
	liquids on the upper part, and for sharp objects							
	under.							
	* Standards: CE							
	* Textile inner lining for good comfort. The sole							
	is designed for good grip and to reduce the risk							
	of slipping. The boot shaft can be tightened with							
	an adjustable strap and it has two handles to							
	make the boots easy to put on.							
	* Sole is anti-static, non-slip, resistant to oils,							
	acids and fuel							
	* Heat resistant rubber sole up to 250 degree							
	Celsius							
	* Size: 42-48							
15	Fire fighting gloves,		10	pairs	10,800.00	108,000.00		
	Minimum Specifications:							
	* Material: Cowhide - specifically treated, heat,							
	water, and abrasion resistant leather; Aramid							
	non-woven fabric; PU membrane; 100% cotton							
	lining; Cuff - short viscose knit cuff FR							
	* Reflective Element							
	* Carabiner for hanging the gloves to the							
	garment.							
	* Drawstring waistband with velcro closure							
	* Sizes: S-3XL							
	* COLOR: Black							
	Please see Terms of Reference for additional							
	requirements.							
16	cadaver bag,		23	рс.	1,224.00	28,152.00		
	Minimum Specifications:							
	* w/ zipper							
	* L: 75"- 90" x W: 35" - 45"							
	* Seamless sides to reduce the in & out of							
	moisture.						Ì	
	* Stitched w/ Nylon Thread						Ì	
	* No. 8 zipper closure							
	* Material of the bag is moisture & vapor						l	
	repellent							
Note	: Other terms and conditions are stipulated in the at	tached Terms	To	otal	999,5	32.80		
of Rei	Ference, if any.		10	riai	JJ5,5.	22.00		
DELIVERY TERM: Within Fifteen (15) calendar days upon the receipt of Notice to Proceed but not to exceed 31								

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

December 2023.

(02) 8643-1111 * (02) 8641-1111 loc 1461 * bidsandawards@pasigcity.gov.ph * pasigcity.gov.ph

*Indicate the BRAND NAME or MANUFACTURER NAME and the specific MODEL to be offered or attach a BROCHURE for the offered item; items including but not limited to clothing, vehicle, equipment, devices, electronics, machines, drugs, medicines, medical supplies must be branded or at the very least, manufacturer shall be indicated.

2847

TERMS OF REFERENCE For PR No.: (00 - 23 - 09 - 7847

PROJECT TITLE: Procurement of various item requests of BFP-Pasla

- 8. PROJECT DESCRIPTION:
 - Procurement of various items for BFP Pasig.
- 11. DELIVERY: 15 CALENDAR DAYS
 - All items must be delivered at OGS-Central Supply Depot located at V. Baltazar St., Brgy. Sto. Tomas, Pasig City.

 2. The Office of the City Mayor must be notified in the delivery of the items.
- REQUIREMENTS:
 - 1. LOT 1: 1.1. All items under LOT 1 must have at least 6 months warranty.

Maridal Peronilla

Noted By:

O. Edralin Assistant V Executive the City Mayor

Submit this Quotation (Accomplished and duly signed by the Owner or the respective Authorized Representative indicated in the Secretary's Certificate/Special Power of Attorney) not later than the closing date specified in the Bid Notice Abstract posted in PhilGEPS website along with the following documents:

- Mayor's/Business Permit (or a recently expired Mayor's/Business permit together with the official receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit subject to submission of the Mayor's Permit before the award of contract). The nature of business as stated in the Mayor's/Business Permit should at the very least be similar or related to the project to be bid.
- **PhilGEPS Registration Number**
- Income Tax Return Latest Income or Business Tax Returns filed and paid through the BIR Electronic Filing and Payment System (EFPS).

In accordance with Revenue Regulation No. 3-2005, the above-mentioned tax returns shall refer to the following:

- 1. Latest Income Tax Return (ITR) For participants already with an Annual ITR, latest ITR shall refer to the ITR for the preceding Tax Year be it on a calendar or fiscal year. For new establishments which, therefore, have no annual ITR yet, it shall refer to the most recent quarter's ITR.
- 2. Latest Business Tax Return refers to the Value Added Tax (VAT) or Percentage Tax returns covering the previous six (6) months.
- Accomplished and notarized Omnibus Sworn Statement (Form can be downloaded thru https://www.gppb.gov.ph/downloadable-forms/#tab-61412)

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

(02) 8643-1111 * (02) 8641-1111 loc 1461 * 🙆 bidsandawards@pasigcity.gov.ph * pasigcity.gov.ph

Page 5 of 6 | RFQ No. 100-23-08-7847 | RLD

 Proof of Authorization: Secretary's Certificate if corporation, or Special Power of Attorney, if individual.

ADDITIONAL REQUIREMENTS:

For Procurement of Drugs and Medicines:

Documents from the Food and Drug Administration (FDA):

- a. Certificate of Product Registration;
- b. Certificate of Good Manufacturing Practice;
- c. License to Operate;
- d. Batch Release Certificate (for vaccines, toxoids and immunoglobulins only) [to be submitted upon delivery]; and
- e. Certificate of Analysis (for anesthesia and antibiotics) [to be submitted upon delivery].

If the Supplier is not the Manufacturer, a certification from the Manufacturer that the supplier is an authorized distributor/dealer of the products/items.

Please submit the accomplished Quotation and required documents on or before the deadline of submission at the Bids and Awards Committee (BAC) through the **Procurement Management Office (BAC Secretariat Office)**, 4th Floor, Pasig City Hall, San Nicolas, Pasig City.

All documents should be submitted in a sealed brown envelope addressed to the "Bids and Awards Committee, 4th Floor, Pasig City Hall", and properly marked with the Project Title as provided herein.

The CITY GOVERNMENT OF PASIG reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

For any clarification, you may contact us at telephone no. (02) 8641-1111 / (02) 8643-1111 loc. 1461 or email address at bidsandawards@pasigcity.gov.ph

ATTY. PONCE MIGUEL D. LOPEZ &

Officer in Charge, Procurement Management Office

I hereby certify that I have read and agree to this Request for Quotation, its Terms of Reference, and Bid Bulletin/s, if any. I further certify that the products to be delivered will conform to the specifications stated in the Item Description.

Conforme:	
Signature over Printed Name	Position
Duly authorized to sign quotation/offer for and on behalf of _	(Please indicate Company Name)

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

(02) 8643-1111 * (02) 8641-1111 loc 1461 * bidsandawards@pasigcity.gov.ph *

pasigcity.gov.ph